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General Instructions :

0 This question paper consists @f fouf sectidnB, C and D. SectionA contains
5 questions of one mark eaeh, Sect®rns of 10 questions ofwo marks each,
SectionC is of 10 questio ee marks each and Sectidh is of 3 questions
of five marks eac

(i) All questions mpulsory.

@iy Thereisno o Il ghoice. However, an internal choice has been provided in
guestion @R marks; one question 8fmarks and one question ®fmarks weightage.
Attem offe of the choices in such questions.

ivy, Q ber& to 5 are to be answered ione wordor one sentencesach.

(V) tion number8 to 15 are to be answered in approximat2ly-30 words each.

i estion number$6 to25 are to be answered in approximatd8@-50words each.

(i)

(if)

Question number26 to 28 are to be answered in approximat@&-120 words
each.

e
59 g97-97 4 a7 @ A, B, C3ilt D & @ A 75 397 & foar vanua 3% 2,
gug B & 10 y97 & for7a @at o7 & @w= C & 10 97 & fo7s dia-dfiT i & aer
gz D & 3 97 & fom7 qra-qrq 5w &
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(i)  #IF Ty FIT-AEA (AT qreg) SuaeEr J& &1 7 ot 2 Sl gt uE gIT 7,
3 o7l T TF F9T H S 5 o7l ard T g9 Hiadl aga-famey Suaer & o
g9l #IT UH-UF [Abeq T IaX GIiT |

(V) F97 @81l @5 Tk & o7 U0 A= 47 U&-UF T 4 397

(V) F97 @@r6 & 15 ak & a7 @747 20 & 30 9@l 7 g

(Vi) F97 @@ 16 & 25 @& & g7 @47 30 & 50 =l 7 g

(vii) F9T G@r 26 & 28 @@ # Iav @9 80 & 120 J=r # A7

SECTION A 0

qE A

1.  What would happen to the rate of photosynthesis,iplénts if.the C centration

level almost doubles from its present level in the atmosph @

Ffe argause @ CO, T HZoT &R I8 daad &) 4 P U
H YRIT-G9090T &l S X H1 g9F 9290 ?

2. In humans, starch digestion begins in the bu ut stops in the stomach. Why ? 1
ﬁ@'ﬁwm‘wwg@gaﬁwﬁaw& 9 ¥ U W B S B
s G o A o

T S, dr C, drei

3. Name the two most biodiversity-ric n f India. 1
ARA & & qalfeedh saidderdr- [ @ I Ty |

4.  Name the hormone that makes lants more tolerant to various stresses. 1
39 EE & AW fafte aemai & fa eiferes gesslier &= <t 2

5.  Name the two majo ups of cells required in attaining specific immunity. 1
fafyre uforen o & g FIfR-aEl ® STagghar el €, I AW

¢

SECTION B
qE B

e the end products of aerobic and anaerobic glycolysis. List two ways by which
cules of ATP are produced in glycolysis during aerobic respiration in a cell. 2

AT FATET TSR & AT IUEI % A JART | I Hi-er & [arear €
% g/ FIRE & WY a9ad @89 & QR TaEdiaed § ATP & &9 a9d
g ?

7.  Differentiate between Total Fertility Rate (TFR) and Replacement Level (RL). A 3
FEOT el X (TFR) @ gfaedmas &R (RL) # fa¥g &g |



8. Due to uncontrolled excessive hunting the population of tigers in a forest becomes zero.
Discuss the long-term effects of this situation on the population of deer in that forest.
Ffafa sraftes R T 9 & SR Uk a9 F qmEl B GEn O 8 S ¥ 99 A
7 ol @ gt W T Rafd & e THE @ B, faeE s |

9. Name the source gland of leutinising hormone (LH). Mention the other hormone along
with which it acts on its target cells/organ. Give their two functions. 2
e e (LH) @7 Eid 3 &1 A9 9q1eT | 98 HiET g e & S
IR/ T TqH -9 BhaT HaT & 2 3% &l Bl B Swi@
taneously?

10. Can all the four chambers of the human heart experience sy@

Explain justifying your answer. 2

OR
What do you call the circulatory fluid in the body of C@h, Mention its three

functions.
www%aﬁm&ﬁﬁww&wﬁq(ﬁ@ﬁ)ﬁ@?g&m@m

3l GHARY |
T
i (foerae) @ <8 # aREard &4 & g I HrEt B I HioTT |
11. Why did scientists pick hydrogen as bas#g for MRI scanning ? Name two parts of the
human body that do not appear in“an MRl scan. 2

MRI-=6HT & o agnfet =
a9 % 99 99T S MR

P‘r YR & &9 | i g7 ? 999 IR & oA
F Tl Bl |

ow does thermal stratification in temperate lakes help
during autumn and spring turn-over? 2

7 ST Sl § 9RE SR 98d & QR Uedwiadhl Hl AR
{59 UPR FEEAr T 2 ¢

nd glycine gain entry respectively after being formed during
in plants ? What happens to them immediately after ?

99T & SR 999 It PGA T T2 AT el YAl id & ? I°h
BIAT & 2

12.

13. Where

ctivity in plants. 2
S-S (AE0E) ¥ T AN & 2 S & Sa-SIEl & A aarey S g #
SiffraeT-afshaar & qderr & fau s g o 2)

15. Explain CQ compensation point. 2
CO, il fig e iy |



SECTION C
g C

16. Define the following and give their values in a normal human adult : 3
() Tidal volume
() Expiratory reserve volume
(i) Inspiratory capacity

forfefad @ wfemor fafae qer G aaes AEr i o JEm SR

() = Saad
(@) fregas e smaas 0
(i) Sf:gaEs e < ’
17. () How do grasslands differ from Savannas ?
() Name the two major categories of plant forms that d e tie desert vegetation. 3
() wFarmet & FEea Ry yer fag 2§ 2
(i) TH ey w=Eu & & geF At & 9 adee @@ T gyagie &
gl
18. Explain the Capillarity Theory in respect sc f water in plants. Name the tissue
involved. 3
arefl § A & SRS F e BiY AT T, TR | 3 fAfed Fas a

| Eq Ui & §Had & R Usfiger Sferar
(AR {wTioes ofih o F-Ufere &1 wftresr &/ Bt ¥

20. What is me ozgne shield ? Name two gases that can cause damage to this shield.
ffect of this damage each on plants and animals. 3

AU & 7 UE & A" & A Ja2C e ERT 59 &ad &l el 9gd
B & e qAT Wil W 9S aTal Uh-Us By JHE Jadrey |

qH ddiEy |
19. Explain the initiation of m %lon What is the role of Sarcoplasmic Reticulum,
Myosin head and F- Actlﬁ traction in striated muscles ? 3

is sub-culturing essential in plant tissue culture ? 3
OR
Explain the process of heterosis. How is it different from inbreeding depression?
e Sk qad § IU-HIEET F AEED © 7
Hqq
faomear (Beafa®) uftkar @wemsw | Siq:ys= oEHfd § IE fohd g P &t 8 2



22. Where and how is urea produced in ureotelic animals ? What happens to the kidney
filtrate in descending loop of Henle and collecting tubules in humans ?

gRar-scett wiforat & i wef ofR &d ST & 2 WGl § TRl &l IS T Heh
Afcrertatt 9 gep T @1 R BT § ¢

23. Distinguish between epimorphic and morphallactic regeneration, giving one example of

each. 3
TS qToeHaT qaT AiGaided qHegHaT Hl UhH-UH IEElol 3@
EGRIEN
24. Mention where the following are located in the human brain, andgi chtion of
each : b 3
() Temporal lobe
4

(@) Cerebellum

(i) Corpus callosum

Mg Afqes # fefaiad #a Rad B 8, Swid aof) 9AF H TH-TE B
IARY :

0 @ i &
(@) TR

(i) HHE HerEH

25. Define innate immunity. Na d“explain the category of barrier which involves
macrophages. 3
qT

el gfawem @f g - T 1Y IS8T U gHARU forad

LREE L EGEIEE)) g1
SECTION D

* ®E D

26. What i of classifying cancer ? Name and explain the different categories of

any two approaches for cancer treatment.
OR

t is embryo culture ? What is the objective of this culture ? Describe the three
plications of this technique.

# fFE SMER W afiga fhar mar & 7 dad &I it Sl & 9w gary qen
3% GHEATET | heR SUEAR &l His & AR fRemell &1 I & |

T
o7 qae o Fed & ? 30 GAYT #T Iegd HT BT & ? T qbAlh & o STHArT
N IO BT |



27. Draw a diagram of the longitudinal section of a mature anatropous ovule and label any
ten parts in it. 5

OR

Draw a flow-chart to show the hormonal control of the human male reproductive
system, highlighting the inhibitory and stimulatory directions in it.

UF URYF 9 (VEEE) d9E & e Qe B STRG SHIEU AT 399 fheel
HRN T IR IR |

AT T 9 G & ST G F UH Jare-are g9E SR SHH SeHHr SR
feamett @ fagy dr W e g
28. Explain the process of biosynthetic phase of photosynthesis occurririguist'the chloroplast. 5

OR 4
Describe the process of development of root nodul minous plant. Name the
oxygen scavenger molecule present in the root nodulgs.
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